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&= X0t 172,085 297,085 A 125,000
4 (222 154,700 279,700 A 125,000
ALY EXF= X 134,850 244,850 A110,000
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AFAdFHEHS2 100,000 200,000 A100,000
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01 REXI S Kt 100,000 200,000 A 100,000
OrAFY 100,000
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201 B3| 5,000 10,000 25,000
01 AtE22|Hl 5,000 10,000 A5,000
ogze & 5,000
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01 =Wl 14,850 14,850 0
©°Ql5 It 2te 14,850
HY2AZU (ZZAIE KX (IIE 17,385 17,385 0
Jl23| 17,385 17,385 0
fMEgI23t] 17,385 17,385 0
201 LBt 13,065 13,065 0
01 AFR 22| 13,065 13,065 0
ORAN=2Z 13,065
202 O4Hl 4,320 4,320 0
01 =Wl 4,320 4,320 0
ORN2Z 4,320




